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Question Number : 1 Question Id : 70819119654 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f e is the electronic charge, c is the speed of light in free space and h is Planck’s constant, the

e -
quantity ——— —— has dimensions of :
© o dmeg hic

Options:
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Question Number : 1 Question Id : 70819119654 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(ot

e eranLg Wemeyrl L, c -eranug GeupdlLsdle qefllar fasCaisd wHHb
. ¥
1 el

h -19armié wrledl eraflé, ——— —— -ar uflome aumiliun

dmey  he &

i
J



Options :
f (
70819164111, M LTI

/ 1
70819164112. Lo

a7 070
70819164113, IM°LOT]

—~=
70819164114, 1L €]

Question Number : 2 Question Id : 70819119655 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A stone is dropped from the top of a building. When it crosses a point 5 m below the top,
another stone starts to fall from a point 25 m below the top. Both stones reach the bottom of
building simultaneously. The height of the building is :

Options :

70819164115, 45> m

70819164116, 25 m

70819164117, 50 M

70819164118, 20 m

Question Number : 2 Question Id : 70819119655 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819164115, 42 m

70819164116, 25 m

70819164117, 2> M

70819164118, 20 m

Question Number : 3 Question Id : 70819119656 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A sphere of radius ‘a” and mass ‘m’ rolls along a horizontal plane with constant speed Up: It
encounters an inclined plane at angle § and climbs upward. Assuming that it rolls without
slipping, how far up the sphere will travel ?

ta%‘)vﬂ )

Options :

2
_Tp

70819164119, 28 sind

2
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70819164120, 28 Sin

70819164121.
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Question Number : 3 Question Id : 70819119656 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 70819119657 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The point A moves with a uniform speed along the circumference of a circle of radius 0.36 m
and covers 30° in0.1s. The perpendicular projection P’ from A’ on the diameter MN represents

the simple harmonic motion of ‘P, The restoration force per unit mass when P touches M
will be :

M 036 m

Options :

70819164123, 100 N

70819164124, 287 N

70819164125, 20 N

70819164126, 049 N

Question Number : 4 Question Id : 70819119657 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:
70819164123, 100N

70819164124, 287 N

70819164125, 20 N

70819164126. 049N

Question Number : 5 Question Id : 70819119658 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Thermodynamic process is shown below on a P-V diagram for one mole of an ideal gas. If

V,=2V, then the ratio of temperature T,/T, is :

P1 1Py, V4, Ty)
1
Py 2 = constant
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70819164127.

70819164128. V2

ba| =

70819164129.

70819164130, 2

Question Number : 5 Question Id : 70819119658 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819164130, 2

Question Number : 6 Question Id : 70819119659 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  In a diatomic molecule, the rotational energy at a given temperature obeys
Maxwell's distribution.

Statement 1 :  In a diatomic molecule, the rotational energy at a given temperature equals
the translational kinetic energy for each molecule.

[n the light of the above statements, choose the correct answer from the options given below :
Options :

70819164131. Both Statement I and Statement Il are true.

70819164132, Both Statement I and Statement 1l are false.

70819164133, Statement 1 is true but Statement 11 is false.

70819164134 Statement 1 is false but Statement 1l is true.

Question Number : 6 Question Id : 70819119659 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 70819119660 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Two identical springs of spring constant ‘2k” are attached to a block of mass m and to fixed
support (see figure). When the mass is displaced from equilibrium position on either side, it
executes simple harmonic motion. The time period of oscillations of this system is :
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70819164135.

70819164136.
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70819164137, ' K
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70819164138. E



Question Number : 7 Question Id : 70819119660 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 70819119661 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Y=Asin(wt + dy) is the time-displacement equation of a SHM. At t=0 the displacement of

A
the partidr: is Y= = and it is moving along negative x-direction. Then the initial phase

r

angle by will be :



Options :

w
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3
70819164142.

Question Number : 8 Question Id : 70819119661 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 70819119662 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A d‘.arge ’q' is placed al one corner of a cube as shown in t’igure. The flux of electrostatic field

—3

E through the shaded area is :
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Options :

70819164143, B0

70819164144, €0

&)
70819164145.

70819164146, ~ °

Question Number : 9 Question Id : 70819119662 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819164143, B0

70819164144, 0

g0
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Question Number : 10 Question Id : 70819119663 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An electron with kinetic energy Kl enters between parallel plates of a capacitor at an angle
‘o’ with the plates. It leaves the plates at angle ‘8" with kinetic energy K,. Then the ratio of

kinetic energies K 1 K,z will be :
Options :
.C(}SB

70819164147, ©O5%
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70819164148, Sina

sin 2[3

COs o

70819164149.
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70819164150, % ©

Question Number : 10 Question Id : 70819119663 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 70819119664 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
In a ferromagnetic material, below the curie temperature, a domain is defined as :
Options:

70819164151, 2 macroscopic region with zero magnetization.
70819164152, 2@ macroscopic region with saturation magnetization.
70819164153, 2 macroscopic region with randomly oriented magnetic dipoles.

70819164154, 2 MACroscopic region with consecutive magnetic dipoles oriented in opposite direction.

Question Number : 11 Question Id : 70819119664 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 70819119665 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

An LCR circuit contains resistance of 110 ) and a supply of 220 V at 300 rad/s angular
frequency. If only capacitance is removed from the circuit, current lags behind the voltage by
45", I on the other hand, only inductor is removed the current leads by 45° with the applied
voltage. The rms current flowing in the circuit will be :

Options :

70819164155, 1 A

70819164156, 1.5 A

70819164157, 2 A&

70819164158. 23 A

Question Number : 12 Question Id : 70819119665 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 70819119666 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The stopping potential for electrons emitted from a photosensitive surface illuminated by
light of wavelength 491 nm is (.710 V. When the incident wavelength is changed to a new
value, the stopping potential is 1.43 V. The new wavelength is :

Options :

70819164159, U7 nm

70819164160, 329 nm

.l
70819164161, o2 nm

70819164162, 400 nm

Question Number : 13 Question Id : 70819119666 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819164159, 09 nm

70819164160, 329 nm

¥l
70819164161, 02 nm

70819164162, 400 nm



Question Number : 14 Question Id : 70819119667 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Consider the diffraction pattern obtained from the sunlight incident on a pinhole of diameter
0.1 pm. If the diameter of the pinhole is slightly increased, it will affect the diffraction pattern
such that :

Options :

70819164163. ils s1ze IncCreases, and LT‘[T.EI‘[SIT.}-' IMcreases

70819164164. its size increases, but intensity decreases

708191641665. its size decreases, but intensity increases

70819164166 its size decreases, and intensity decreases

Question Number : 14 Question Id : 70819119667 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 70819119668 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An electron of mass m, and a proton of mass mp =1836 m,, are moving with the same speed.

8
The ratio of their de Broglie wavelength “electron iy pe
Aproton

Options :

70819164167.

70819164168, 1836

70819164169, 1836

70819164170. 218

Question Number : 15 Question Id : 70819119668 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819164167, !

70819164168, 1836



1

70819164169, 1836

70819164170, 918

Question Number : 16 Question Id : 70819119669 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The wavelength of the photnn emilted b}-‘ ahydrogen atom when an electron makes a transition
fromn=2ton=1 state is :

Options :

70819164171, 121.8 nm

70819164172, 1948 nm

70819164173. 490.7 nm

70819164174, 913.3 nm

Question Number : 16 Question Id : 70819119669 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

70819164171, 121.8 nm

70819164172, 194.8 nm

70819164173. 490.7 nm



70819164174, 913.3 nm

Question Number : 17 Question Id : 70819119670 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If a message signal of frequency 'I_{m’ is amplitude modulated with a carrier signal of frequency
‘f.” and radiated through an antenna, the wavelength of the corresponding signal in air is :

Options :
C

70819164175. fe = fm

C

70819164176, J¢ © fm

L

70819164177.f;

C

70819164178.'ﬂ”

Question Number : 17 Question Id : 70819119670 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@@ Qeldl emsms G 218170 eu e amyL_a, ¢ aflfdeuam CararL e 2mid
asmaLar eiFsl vanrGupphd Qewiul®, em uruld awfiCu sdjeissns

gl g T : e . o g s
LTUUUULLTeD, &ITmHie, Silbh Gl ol ol %@EI@UE-J:T'LD .

Options:
C

70819164175. fe = fm



C

70819164176, 1¢ © fm

L

70819164177. fe

C

70819164178. fon

Question Number : 18 Question Id : 70819119671 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
For extrinsic semiconductors; when doping level is increased;
Options:

Fermi-level of p-type semiconductor will go upward and Fermi-level of n-type
70819164179 semiconductors will go downward.

Fermi-level of p-type semiconductors will go downward and Fermi-level of n-type

70819164180. semiconductor will go upward.

20819164181, Fermi-level of p and n-type semiconductors will not be affected.

Fermi-level of both p-type and n-type semiconductors will go upward for T > TF K and

downward for T < TF K, where TF is Fermi temperature.
70819164182.

Question Number : 18 Question Id : 70819119671 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 70819119672 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List I with List 1.

List 1 List 11
(a) Rectifier (i)  Used either for stepping up or stepping down the a.c. voltage
(b)  Stabilizer (i) Used to convert a.c. voltage into d.c. voltage
(c) Transformer (i) Used to remove any ripple in the rectified output voltage
(d)  Filter (iv) Used for constant output voltage even when the input voltage

or load current change
Choose the correct answer from the options given below :

Options :

70819164183, @), (b)-(1), (¢)-(iii), (d)-(iv)
70819164184, @)-(i), (b)-(iv), (c)-(1), (d)-(ii)
70819164185, (@)-(i). (b)-(i), (c)-(iv), (d)-(iii)

20819164186, (@), (b)-(iv), (c)-(1), (d)-(ii)



Question Number : 19 Question Id : 70819119672 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
70819164183, @-(i), (b)-(0), (c)-(iii), (d)-(iv)
20819164184, @), (B)-(iv), (©)-(0), (d)-(iii)

70819164185, (@)-(i), (b)-(1), (¢)-(iv), (d)-(iii)

70819164186, @ ({id), (B)(iv), ()-(), (d)(ii)

Question Number : 20 Question Id : 70819119673 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The truth table for the follnwing If}g ic circuit is :

Ae }

=
B e o
Options:
A B ¥
0 0 0
0 1 1
1 0 1
1 1 0
70819164187.
A B Y
0 0 1
0 1 0
1 0 0
1 1 1
70819164188.
A B L'
0 0 1
0 1 0
1 0 1
1 1 0
708191641809.
A B ¥
0 0 0
0 1 1
1 0 0
1 1 1

70819164190.



Question Number : 20 Question Id : 70819119673 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

EDEETEMID H765F SOHODETET 2 ERTEND <L L GUEnERTILITEUS)

Ae \
|/
) y
[
B = y
Options :
A B ¥
0 0 0
0 1 1
1 0 1
1 1 0
70819164187.
A B Y
0 0 1
0 1 0
1 0 0
1 1 1
70819164188.
A B b §
0 0 1
0 1 0
1 0 1
1 1 0
708191641809.

70819164190.



A B Y

0 0 0

0 1 1

1 0 0

1 1 1

Physics Section B

Section Id : 708191851
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911131
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819119674 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two particles having masses4 g and 16 g respecttvol}-' are moving with oqual kinetic energies.
The ratio of the magnitudes of their linear momentum is n : 2. The value of n will
be _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819119674 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

4guohmb 16 g flevpuyeLw @@ HEETHET &0 A6Tay QWSS 2HEIL 6
Gsddlampar. eupdler CriGar’ () 265 wdider elldlsn n:2 arafld, n-6r wéluiy
B,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819119675 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The initial velocity v, required to project a body vertically upward from the surface of the
earth to reach a height of 10R, where R is the radius of the earth, may be described in terms

: x :
of escape velocity v, such that o; = |'— X vg. The value of x willbe _____

VY
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819119675 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

e Gummener R e prpenw yeilden Gonuride @mbs, 10R 2 wrsdns

(X .
~ X 1, ereléd

Cuea Crrédl efleugh@s Comeunear Dem_dss faslash v = |
\y

x -an Wl eremen ?

[R -yeflflan <ymbd, sLuD SensCeausd v, apad alleuflésiubans.]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819119676 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The percentage increase in the speed of transverse waves produced in a stretched string if
the tension is increased by 4%, will be ___ — %.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819119676 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

QM @Qwsad sl Liul L mreéllen @uelans 4% oflaflégn Cung, oidledlmba
Carpmelléslu@n nésmasaia Causb fsféEn ss6ids0 s

25 LD.



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819119677 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

IfPxQ=0Qx P, theangle between P a.nda} is 0 (0° < 0 < 360°). The value of ‘0" will be

b

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819119677 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

—

I_; : {_':} = {_':} X P eratlen, F LD DM LD a -alln@ @enCw 2 erar Camanrd O (0° < 6 < 360°).
0 o-eam oAy wélfl eyE.
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 25 Question Id : 70819119678 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A reversible heat engine converts one-fourth of the heat input into work. When the
temperature of the sink is reduced by 52 K, its efficiency is doubled. The temperature in
Kelvin of the source will be

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819119678 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

@ Bargarew 2w Cetin Quipdyb, edefl Qaulusder 4 -d @ wLL®S
Cauenawns wrpndng. deutin gnduder Geulinflena 52 K marey @ennasiiuLLme,
oigan Lwenndlmer @7l liurdlng. K -ereiled, Geuliuepend wppb Ceuiiu gnd

G dwuarepflear Aeutiublare apapGu _ oy@L.
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819119679 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Two small spheres each of mass 10 mg are suspended from a point by threads (0.5 m long,
They are equally charged and repel each other to a distance of (.20 m. The charge on each of

i -8 :
the sphere is - 107"C. The value of ‘a’ will be

[Given g =10 ms ol

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819119679 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0.5 m ferpenw Frévaarmed, 10 mg Bleaop QaramL @m Camermser, g ydreflula

@ mbs Asrmsedllul Hderear. Simea §0 emey Werar L b Hubmeea wHmID

0.20 m g1y&dlHeE qeran geann elas@darner. e banm GCamendgdlen bayb o drar
SRR e i o e .
Wlegn L C arefled, ‘@’ -e WL 2 (LD,
21 O

[g=10 ms 2 grené Glsmars.]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819119680 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Two identical conducting spheres with negligible volume have 2.1 nC and - 0.1 nC charges,
respectively. They are brought into contact and then separated by a distance of 0.5 m. The
electrostatic force acting between the spheres is x10~? N.

[Given : 4me,= SI unit]

9 x 10°

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819119680 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Unssamilésssss oare) sa1 jereyamlw @m @by S@wlymLw FLGg
Camerhser wennGw, 2.1 nC whmbd —0.1 nC Wergyr’ L Glsnem(HeTatar. 2iamay
qere@n qém GsrRunm Cewg, Gerant 0.5 8 ejemey gmb eladsiu@demnar.
2eueilm GarerisEnéEllanCu dewdu@n Hlamellear elmsulear willy
{j .
X1077 N 2,5 .

1 . : .
[4mey= ———5 SI Sdld eaard Csndrs.|
9x 10

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819119681 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The poak electric field producr_-d b}-’ the radiation coming from the 8 W bulb at a distance of

. X |Pe
VI 0° Z The efficiency of the bulb is 10% and it is a point source. The value of
o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819119681 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
10 15 gmssla, qm 8 W ellerédld @mig deuafleumbd Wanywsdlan o fs wdlOis.

poc V

s = erafled, x -eir O _ oy@h. scualedder Lweym Smer

10% u:,rf;(rvutu 218 @ LeTafl epeld.
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819119682 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



A current of 6 A enters one corner P of an equilateral triangle PQR having 3 wires of resistance
2 () each and leaves by the comer R. The currents "Il in ampere is ___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819119682 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

LULGSle 2ataraunm, @ souss waGaramd PQR, 2 O WengenL wdrer eparm
sbsamars Garam(ararg. 6 A WlenGarmiLib P aramp epenaulie) 261 menpbay,
R apanaufien e flCw QeueflGumdlng. WenGermLhigar iy pdlwer wpenGu

-

i e E T ad
_ G, (olwugle)

6A

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 30 Question Id : 70819119683 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The wavelongﬂm of an K-ra}-' beam is 10 A. The mass of a fictitious particle having the same

energy as that of the X-ray photons is %h kg. The value of x is ____
(h=Planck’s constant)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819119683 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Qm X-sdi shendear s@aberd 10 A oyEb x. gm X-s8T CumLidr 2jeay
2phne daram(Ddrer g &humand gsar Hlam wdlly %h kg erafled, x-am &L

— oyEbh. h=0eri wmle)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Chemistry Section A
Section Id : 708191852
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911132
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819119684 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which among the following species has unequal bond lengths ?

Options:

4

Xe 4
70819164201.

SiF,
70819164202.

4

70819164203. ~ Fy

BF,
70819164204,



Question Number : 31 Question Id : 70819119684 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e Genens Glamam(herang ?

Spssan Cajonsefle erg sownp Wamenriy f
Options :

XeF

70819164201,  *

SiF,
70819164202.

70819164203. 24

BF,
70819164204,

Question Number : 32 Question Id : 70819119685 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The solubility of Ca(OH), in water is :
[Given : The solubility product of Ca(OH), in water=>5.5x10 0]

Options:

I3

70819164205, 1-11>10

70819164206, 1-11x107¢

I

70819164207, 1-77 * 10

70819164208, 1.77 %1079



Question Number : 32 Question Id : 70819119685 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Bifléb Ca(OH), -6 sandlmar,
[QarhssiulHereng : Bild Ca(OH), -6 sardper QumEsn =55x107°]

Options :

70819164205, 1-11>10

70819164206, 1-11710

[iB*)

70819164207, 1-77 % 10

70819164208, 1-77 %10

Question Number : 33 Question Id : 70819119686 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the ff}IL:}wing statements is FALSE for h}-’drf}phﬂic sols 7

Options :

70819164200. Thc-}-' do not require c-lc-ctml}-'tc-s for stahﬂit}-'.

70819164210. These sols are reversible in nature.

70819164211, Their viscosity is of the order of that of HZD.

70819164212. The sols cannot be easily coagulated.

Question Number : 33 Question Id : 70819119686 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
Spsane by ell@poll srasear uhOlw G Seuprer sabmn eTg ?
Options :

20819164209 @eunenn Bleveliu(pss Wearu@aisear GCsenaeuuldcana.

70819164210, ‘DBS FTC & hergeneno Cl& merrLg.

20819164211 @eundler un@blenay, bfler LT@EGBlePanL @oHFcTaTS).

70819164212 @Qbs srosmer eraflfle Hflghn Qe @uens.

Question Number : 34 Question Id : 70819119687 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct order of bond dissociation enthalpy of halogens is :
Options :
70819164213, F2> > Bra> by

70819164214, 12~ Bro> (> Fy

70819164215, —2” Bra> Fo> I

= P> =
70819164216, 2 F27 Br2” I

Question Number : 34 Question Id : 70819119687 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-~

Canagenaaflen flwnear Genemriiy flensmibd eremgnaGular sflwurer euflens :



Options :
70819164213, 12~ Ch> Bro> I

70819164214, 12~ Bro> (h> Fy

70819164215, “l2” Bra> B> I

s
70819164216, —2” 27 B> L

Question Number : 35 Question Id : 70819119688 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The method used for the purification of Indium is :
Options :
70819164217, Van Arkel method

70819164218, L1quation

70819164219, Zone refining

70819164220. vapour phase refining

Question Number : 35 Question Id : 70819119688 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Elenrig LGens STUHLWIMESL LWemURD (Lpenm

Options :

70819164217. G:'-.JII{:.;:-I—.._:;:I_{JI:I&-::L ':.I.'FE'E:.I—D



70819164218, DILDLIESE
70819164219, H®S SMUEDLDWINES 6D

il flencwenwudé FMUeNDWINTESED
70819164220, “2° & S

Question Number : 36 Question Id : 70819119689 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Water does not produce CO on reacting with :
Options :

70819164221. H,

70819164222. ©

[

70819164223.

C,H,
70819164224,

Question Number : 36 Question Id : 70819119689 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SpasanL ersailen B eflenarul L CO 2 (heunsng ?
Options :

70819164221. H,

70819164222, €



[

CO
70819164223.

C,H,
70819164224,

Question Number : 37 Question Id : 70819119690 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1 :

aand 5 forms of sulphur can change reversibly between themselves with slow heating or
slow cooling.

Statement I :
At room temperature the stable crystalline form of sulphur is monoclinic sulphur.

In the light of the above statements, choose the correct answer from the options given below :

Options :
70819164225, Both Statement | and Statement 1l are true.

70819164226 Both Statement I and Statement Il are false.

70819164227, Statement 1 is true but Statement 11 is false.

70819164228, Statement 1 is false but Statement 11 is true.

Question Number : 37 Question Id : 70819119690 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



@nean(h smonaear &6 QanBésiul (Hererer -

gamm) 1 :
Augeans GHubsd oag dugans Gaflielss o -gouf LHmb B sbUMY
qandelwbg LHPDrETHIS WIHDH @wab.

gamm) 11 :
2enn dautiublananded, Ligs el 2 arar ConGamdleflafls saui Haawmers.
ConsearL smpnsefler sigliuam e #flurar eaLaus CainlshHasab

Options :

70819164225, &-DDI 1 LHDL Sapm) Il Grewr(Bio & flwmens,.
2 = N ucl '\-|‘I "_a I|f a :

70819164226, F-DDI I LODIL Sapmy 1T Gram(hio seupmens.

70819164227, FDmI 1 5l penmed sapm) I saum.

20819164228, TP 1 saum penmed Sapmy 11 &

Question Number : 38 Question Id : 70819119691 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The major components of German Silver are :

Options :

70819164229, & Zn and Ag

70819164230, Cur Zn and Ni

70819164231, ¢ Cuand Ag

70819164232, £ Niand Ag



Question Number : 38 Question Id : 70819119691 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Gepfwen Geucraflufleyr WEHAwns 2 drar LGS ClummLser

Options :
70819164229, CW Zn LODID Ag

70819164230, C4 Zn whmib Ni

Ge, Cu hmih A
70819164231, PP S8

70819164232, 2 Ni opmib Ag

Question Number : 39 Question Id : 70819119692 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which of the following order the given complex ions are arranged correctly with respect
to their decreasing spin only magnetic moment ?

(i) [FeFgP™ (i) [CoNHz)P* () [NiCl*~ (iv) [Cu(NHy),J**
Options :
70819164233, (i) > (ii) > (iv) > (i)

70819164234, (1) > (iii) > () > (iv)

70819164235, (L) > (iv) > (ii) > (3

70819164236, (1) > (1) > (iii) > (iv)

Question Number : 39 Question Id : 70819119692 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SpssanL meanays Cejorselar gospnél LLHGL smemorer s1bs HHUUS
e aflens erhs Fenaumd eflensefler sflums sepwpayarang ?

(1) [FEEF{-]]B (i1) [CO{NH3){i]3+ (i) [Ni{flq]z (iv) [Cu{NHa)d]z'

Options :

70819164233, (i) > (iif) > (iv) > (ii)

70819164234, (1) > (iii) > () > (iv)

70819164235, (Hi) > (iv) > (ii) > (i

70819164236, (1) > (1) > (iii) > (iv)

Question Number : 40 Question Id : 70819119693 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | :

The pH of rain water is normally ~5.6.

Statement 1I :

[f the pH of rain water drops below 5.6, it is called acid rain.

[n the light of the above statements, choose the correct answer from the options given
below :

Options :
70819164237, Both Statement | and Statement 1l are true.
70819164238. Both Statement I and Statement 1l are false.

70819164239. Statement 1 is true but Statement 11 is false.

70819164240. Statement 1 is false but Statement 11 is true.



Question Number : 40 Question Id : 70819119693 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

G @rean(h) snmser Cer(ssiu (Harerer :

ganml 1:
Gurgeuns wenpbflar pH ~5.6.

ganml Il :
weny Bflem pH5.6 -H@ & Gonhand, o5 2bla wap aariubEng.
Cuopsa spnseiean oigiuemilea, sflwurar ellenLawsd CHibblsHéseab.
Options :

- g : L TR L
70819164237, DI Iohmib gammy I @reawm(hin silwneg.

20819164238, gamm) 1 wHmb snmy Il @reamHibn e mnea g,

-

70819164239, F-DDI 1801 A Sapm) Il Heup.

20819164240, F-DDI 1 seuml Spened Sapmy 11 s1l.

Question Number : 41 Question Id : 70819119694 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following compound is added to the sodium extract before addition of silver
nitrate for testing of halogens ?

Options :

70819164241, Hydrochloric acid
70819164242, Sodium hydroxide

70819164243, Nitric acid



70819164244, AAMmmonia

Question Number : 41 Question Id : 70819119694 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(5 @ e g0 &1 & 61 @i samLflyb Cergmanda Comqwbd o mE@ srmLen, e
bl Grien GejlugnE (pen SpssanL ahg Cejnb Cerdsiuhdng ?

Options :

20819164241, PanLrm@Larmilé ybleowd

70819164242. Gemguwid enanlgrsens(h

70819164243, PBLI1E Siblad

70819164244. <2 GLo merfl win

Question Number : 42 Question Id : 70819119695 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The major pmduct of the ff}Hnwi_ng reaction is :

NO,
P
o
H,50,
Options :
NO,
70819164245.

70819164246.



NO,

N,

70819164247.

NO,

70819164248.

Question Number : 42 Question Id : 70819119695 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Epssan aflenande o meaun@h Wigdwurar ellenarlummer ergy ?

NO,

Py

r

H,S04

Options :
NO,
70819164245.
NO,

70819164246.

70819164247.



N,

NO,

70819164248.

Question Number : 43 Question Id : 70819119696 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The major product of the following reaction is :

H,/CO
Rh catalyst

Options :

70819164249. . =

70819164250.

20819164251, CHaCHCH=—CH—CHO

CH,CH,C==CH,

70819164252. CHO

Question Number : 43 Question Id : 70819119696 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



EpssanL allenamde u@Swuns o aun@h ellenarGlummer :
C b L - L

. = H,/CO
— A0 Rh Gﬂ&ﬂ)@ﬁrcu_bd?ﬁ

CH,;CH,CI

Options :
CH,CH,CH,CH,CHO
70819164249. ARl

70819164250, —TaCHCHCHO

70819164251, CHaCHCH=CH—CHO

CH;CH,C=—CH,4

70819164252, CHO

Question Number : 44 Question Id : 70819119697 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct sequence of reagents used in the preparation of 4-11r0nm-2-nitmcth}fl benzene
from benzene is :

Options :

270819164253, —H1aCOCI/ AlCls, Bry/ AlBry, HNO,/HSO,, Zn/HCI

20819164254, CH,COCL/ AlClL,, Zn-Hg /HCI, Br,/AlBr,, HNO,/H,S0,

70819164255, Br,/ AlBr,, CH,COCl1/AlClL,, HNO,/H,50,, Zn/HC1

70819164256, HNO,/H,50,, Br,/AlICl;, CH;COCl/ AlCl,, Zn-Hg/HCI

Question Number : 44 Question Id : 70819119697 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

O uer el mrg 4-uCrmGor-2-apl Crrasdle Queardear surflégn Curg
pwaruRssLLbn eamarsreflsaflar sflurar aflans :

Options :

20819164253, CH,COCl/ AlCl;, Br,/ AlBry, HNO,/H,50,, Zn/HCI

20819164254, CH,COCL/ AlClL,, Zn-Hg /HCI, Br,/AlBr,, HNO,/H,S0,

70819164255, Br,/ AlBr,, CH,COCl/AICL,, HNO,/H,50,, Zn/HCI

20819164256, HNO;/H,50,, Br,/AlCl,, CH,COCl/AICl;, Zn-Hg /HCI

Question Number : 45 Question Id : 70819119698 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct order of acid character of the [ f}IIf}wing compf}umfls is :

OH COOH COOH COOH
NO; CH,
I I 111 IV
Options :

70819164257, 1> 11> 1I>1V

70819164258, I =M >1>1V

70819164259, 1> 1>V >1



70819164260, IV > HI>11>1

Question Number : 45 Question Id : 70819119698 Question Type : MCQ Option Shuffling

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Epssam_eaupdlen blassearenwuler sflwmar euflans :

OH COOH

NO,

Options :

70819164257, [ = 1> I>1V

70819164258, Il > >1>1V

70819164259, 1> I >V >1

70819164260, IV > HI>11>1

COOH COCH

CH,
11 A\

:Yes

Question Number : 46 Question Id : 70819119699 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is "X’ in the given reaction ?

CH,OH

+ oxalic acid
CH,OH

Options :

X
(major product)



CHO

70819164261, “HO

CH,OH
CHO

70819164262.

t|2|2'£ I,

70819164263. S

CH—OH

|
CH,
70819164264

Question Number : 46 Question Id : 70819119699 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ﬁlr_jpéha:eiim_ ellenarufled X ereTug wing ?
CH,OH N
| + 55Ta0E yLbleld L X
el (OGS wimen
el emerr(lLim(merr)
Options:
CHO
70819164261, “HO
CH,OH
70819164262. 222

70819164263.



CH,

CH,

CH—OH

|
CH,
70819164264.

Question Number : 47 Question Id : 70819119700 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NH, NH, NH, NH,
HNO;, H,50, N2
: - + T
288 K X
el
NO,
(A) (B) (©)

Correct statement about the given chemical reaction is :
Options :

70819164265, —NH,; group is ortho and para directive, so product (B) is not possible.
70819164266, eaction is possible and compound (B) will be the major product.
70819164267 The reaction will form sulphonated product instead of nitration.

Reaction is possible and compound (A) will be major product.
70819164268.

Question Number : 47 Question Id : 70819119700 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



NH, NH, NH,

HNO;, H25D4 NOZ
288 K
02

(©)

Cula Garhdsiu’ (Herer eflenameneny updlu sflurer smpn erg ?
Options :

_NHZ CsrEd @ isGsr vomb mpr sHnULRSED HerEd earte
20819164265, Ceudlellenan (B) Hlapmsy.

eflenanr Hl&pd, Cuweayd G&7ob WOl d wimenr el em el Limem &
HF’ FI!’-l J '[__3' {.J

70819164266.

@ealctllenamida enml_Cor gonsdnE udars soCGunmalls bla agnr
& iy AL BV RIVE= 3= R IR Y J D

20819164267, elenenlduimmer SlanL&@L.

20819164268, ellenan Blapb, Coeb Gerwid (A) Wlgdwere) aflanartlummer.

Question Number : 48 Question Id : 70819119701 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Carbyiamine test is used to detect the presence of primary amino group in an organic
compound. Which of the foIIowmg compouncl is formed when this test is performed with
aniline ?

Options :

NHCH;
70819164269. :

CN
70819164270, :



NC
70819164271, :

CONH,
70819164272. :

Question Number : 48 Question Id : 70819119701 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ sflwé Cawssa eflmamu olCam dsngd cdaarms sarLdlu sriaue
e Cengenan BlansslinRdng. safldear oL @éCorgmaranw HHpHH5 0D
Gumg 2 meum@w G&TwD g ?

Options :
: - NHCH;
708191642609.
CN
70819164270. :
NC
70819164271. :
j . CONH,
70819164272.

Question Number : 49 Question Id : 70819119702 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following is correct structure of w-anomer of maltose 7

Options :
CH,OH CH,OH
H o H H 0. H
< H
H H H H
HO OH
70819164273. HO  OH HO  OH
11
&
HO
70819164274,
CH,OH CH,OH
H —0_H H 0 B
H H
OH H )_|<JH H
HO OH
70819164275. H OH H  OH
CH,OH CH,OH
H .+——0. H H 0 OH
H H
H H H
HO F
OH OH HO OH
70819164276.

Question Number : 49 Question Id : 70819119702 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Sipssam_cunbled eg wraGLrélen a- pGarmofler sflwner epwly ?

Options :

70819164273.



CH,OH CH,OH

H O H H O. H
KH i
H H H H
HO OH
HO  OH HO OH
CH,OH CH,OH
H ——0O. H H . OH
H I
K@u H OH H
HO H
70819164274, H OH H OH
CH':IC'H. EHZDH
H 40— H H 0 H
H H
OH H OH H
HO OH
70819164275, H OH H OH
CH,OH CH,OH
H 4—o H H 0 OH
H H
H H H H
HO H
OH OH HO OH

70819164276.

Question Number : 50 Question Id : 70819119703 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :

The identification of Ni?* is carried out by dimethyl glyoxime in the presence of NH,OH.
Statement 11 :

The dimethyl glyoxime is a bidentate neutral ligand.

In the light of the above statements, choose the correct answer from the options given below :
Options :
70819164277, Both Statement I and Statement II are true.



70819164278 Both Statement I and Statement 1l are false.

70819164279. Statement 1 is true but Statement 11 is false.

70819164280. Statement 1 is false but Statement 1l is true.

Question Number : 50 Question Id : 70819119703 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
éﬁ'%@ @re() smonsear Car(ésLu(perarer :

gamm 1:
NiZt sarLflun Csrgmanda =g o Cwsdd fHoarwundamsupLar, NH,OH
(panaflanadad Csissiu(pfnsg.

gamm) 11 :

@Ldwsdd Smarurdamsd e bHB@mownar @rar® Cgry eadLyrarsaman
GULPMaIBES gL Fatl.

ConsarL sannseflear sgiumrda, Gerameaareunde @mbs &#flwrear
eflenLemwd CoibllsHaseab

Options :

; i g T
70819164277, DD I ohmib samml I Grem(in sflwurerg
70819164278, FDMI 1 LODD Sapmy I Grem(id seuprens.

20819164279, F-0mI 1 &0l perrer sapm 11 seum).

70819164280, F-PDI I Seum penned Sapmy 11 &4

Chemistry Section B



SectionId :

Section Number :
Section type:
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required?:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

708191853
4

Online
Mandatory
10

5

20

Yes

1
7081911133

Yes

Question Number : 51 Question Id : 70819119704 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Consider titration of NaOH solution versus 1.25 M oxalic acid solution. At the end point

following burette readings were obtained.
(i) 45mL (i) 45 mL
(iv) 44 mL (v) 44 mL

(i) 44 mL

If the volume of oxalic acid taken was 10.0 mL then the molarity of the NaOH solution is

_ M. (Rounded-off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819119704 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



NaOH senpsayLen, 125 M %&&lmﬂ& Sblan S0 UN§same a:.g_@{t_h{eﬂ-;t- G amrers.
srounfssed wueld deorss Audrl wpye Moo aadBsar EC
Gar@ssliularerar. aT(Nsas6 Camereriul L oyésmeld oyblosdlar &ersieney
100 mL eraflly NaOH sangedlen Clomemflig M.

(i) 45mL (i) 4.5 mL (i) 44 mL

(iv) 44 mL (v) 44 mL

(eflewL @ Symdled o amar (pp eremantla)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 52 Question Id : 70819119705 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The unit cell of copper corresponds to a face centered cube of edge length 3.5% A with one
copper atom at each lattice point. The calculated density of copper in kg/m? is

[Molar mass of Cu : 63.54 g ; Avogadro Number=6.022 x 10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819119705 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



gl e S0GE &) (PSLIL DL GETEST SienDLIenLIE i-]a:ne:i-:n_gl. <3| Sl alaflibL

hard 3.59% A e geldaumm Uigd %gzs'l“.&(ia'a:n@mu yereflllaud em sriLy e
2 drangy, eranlled, semsALLLLL srOUUflar SLisd, kg/m® s@dlé

[Cu -eflar Comar] Blavp : 63.54 g ; SAeuCa Gy aram =6.022x 107]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819119706 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Electromagnetic radiation of wavelength 663 nm is just sufficient to ionise the atom of metal
A. The ionization energy of metal A in k] mol ! is . (Rounded-off to the nearest
integer)

[h=6.63x10 M Is, ¢=3.00 x 108 ms 1, N, =6.02x 102 mol l]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819119706 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A eranp 2 Canaddlar jameeal oiwaflunés, 663 nm seabeard dsreame Blasnbs

sd7 Curgoreng. A erenmp 2 Cansgdlear sweaflunEn onne, k] mol~! giadla
(eflen ymAld o drer (pp eremantlad)

[h=6.63x10"34Js, c=3.00x108 ms 1, N, =6.02 x 10 mol "]

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819119707 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Five moles of an ideal gas at 293 K is expanded isothermally from an initial pressure of
2.1 MPa to 1.3 MPa against at constant external pressure 4.3 MPa. The heat transferred in
this process is _ ___kmol~1, (Rounded-off to the nearest integer)

[Use R=8314 ] mol " 'K 1]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 54 Question Id : 70819119707 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

293 K -, g 5 Comd mavelluey aumy Gsm_és oiwssn 21 MPa -elal (s
13 MPa -5 Waubuflevawmnr elfleunssn Aelwiubéng. 0Gurg Geuafl
2(p&50 4.3 MPa eanp yerelle) wMpmod 2 eteng, eafle, @&6suapanuien
Gung wropuule Jatussar saral, kf mol~! seda . (e yméled
o GTeT (LY eTemTemtled)

[Lwermun (HéE R=8.314 ] mol ™K ~1]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 55 Question Id : 70819119708 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If a compound AB dissociates to the extent of 75% in an aqueous solution, the molality of the
solution which shows a 2.5 K rise in the boiling point of the solution is ~ molal.
(Rounded-off to the nearest integer)

K, =052 K kg mol !
b 8

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819119708 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Gaimpid AB, gar Hiidsmysala 75% Uileswamdng). sdsmned 25K Gandflame
o witenes sM1L(R&lng eraild, ssamysadlar Guorameliiy __ Gurerd

[K,, =052 K kg mol ] (aflenL 2imdléd o arem (p(yp ereimantled)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 56 Question Id : 70819119709 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Copper reduces NDE into NO and ND_2 depending upon the concentration of

HNO, in solution. (Assuming fixed [Cu?*] and Pyo= PNOEH, the HNO, concentration at

which the thermod}-'namic tendm\c}f for reduction of NDE into NO and ND2 ‘m copper is

same is 10" M. The value of 2x is . (Rounded-off to the nearest integer)

' o = T lJ’ — 4 l\D =07
|Given, E‘Cuhﬂ:u 0.34 V, END_;,IND 09 V, E?\JD;,IT\IOE 0.79 V and at 298 K,
RT

5 (2:309)=0059)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819119709 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

sengadled 2 ear HNO, -wlen Gadleneuts Gunmas) smiuf, NO; -8 NO wimib NO, -auns

@héEang. (@mE [Cu2t] wipreg LHMD Pyy=Pyy, aaé Csendrs) daliu

pussailud ogliuem e sriug lNO; -0 NO wimb NO, -aurs HNO; -wlen

Gedley 100 M -euns @mwé@EL Cung sw Herelld eh&EEng eeflad 2v -6 WL
. (eflanL imAled o amer (p(p crammanfled)

[ o~ . ' A h. G —(-_,I‘- . ] Y l,[J = .
[Csr@aslul pererg, 298 K -a ECu3+fCu 034 V, ET\IDE,I.\ID 096 V,
o — . . RT 5 B

LT\JD_;;}\JDE =079 V wpmw T(-.Er{]?r] =0.059]

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819119710 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The rate constant of a reaction increases by five times on increase in temperature from 27°C
to 52°C. The value of activation energy in k] mol ~!is . (Rounded-off to the nearest
integer)

[R=8314] K1 mol ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819119710 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

am Cadldlamer 27°C -Wdlmhg 52°C -6 2 wisgn Gurg sgar elmaCes
wrdledl iy mbsy wLREG 2 widpg eeafld oeedlmander derfeaymn oLHne
(K mol~! gyoélad)
[R=8.314 JK 1 mol ]

 (eflen ymdled 2 arar (p(p eramenfleh)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 58 Question Id : 70819119711 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Among the following, number of metal /s which can be used as electrodes in the photoelectric
cellis . (Integer answer)

(A) Li (B) Na (C) Rb (D) Cs
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819119711 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Spsar o Garshsella, gaflflar samisafld Wanpeaersars LweruRss (e S
cramentléens . (eflen (P eremremtlen)
(A) Li (B) Na _ (C) Rb (D) GCs
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819119712 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The spin only magnetic moment of a divalent ion in aqueous solution (atomic number 29) is
___BM.

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819119712 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
e @rieL @aandnar Catam ouwelller (g e 29) bisonsass, sHspns

= ~

WL (HGW smremrnner &nhss HpLus Soar _ BM.
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819119713 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of compound/s given below which contain/s —COOH group is
(Integer answer)

(A) Sulphanilic acid (B) Picric acid
(C) Aspirin (D)  Ascorbic acid

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 60 Question Id : 70819119713 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Spssam. Gejomsaies —COOH Agn@gdlew Qanar@erar Gafwid/ misem

cramanfléens _ (afleni (D(p eT wrem] &)
(A) soueafldls sbleb (B) WY&flé sblab
(C)  <=pevidlflem (D) <evanils yblen

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Mathematics Section A
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Section Number :
Section type:
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
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Question Shuffling Allowed :

708191854
5

Online
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20

20

80
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1
7081911134
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Question Number : 61 Question Id : 70819119714 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- 1 0 - i
If for the matrix, A = { a w, AAT=1, then the value of a? +p%is ;
i

Options :

70819164291, 4

70819164292,

2
70819164293. ~

70819164294, °

Question Number : 61 Question Id : 70819119714 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

| 1 V| - - . p

A= { 8 w, AAT=1, erafler, ot + p* -@eir H L
L e

Options :

70819164291, 4

70819164292,

2
70819164293. ~

70819164294,

Question Number : 62 Question Id : 70819119715 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A be a 3 x3 matrix with det(A)=4. Let R, denote the it row of A. If a matrix B is
obtained by performing the operation R, — 2R, +5R; on 2A, then det(B) is equal to :

Options:

70819164295, 10

70819164296, 5V

70819164297, °4

)
70819164298, 128

Question Number : 62 Question Id : 70819119715 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A eramug 3 x3 aufleng QamamL el wOML e samflECamema iy 4 oy Eb.
R, araiug) A -en i-peug) Blany L. 2A -6 g R, — 2R, +5R, eramp Gawedlanwud
Gamew(h B Gupliu®éng eeafle, det(B) -em wliu

Options :

70819164295, 1©

70819164296, 5
64

70819164297.

2
70819164298, 128

Question Number : 63 Question Id : 70819119716 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The following system of linear equations

2x +3y+2z=9
3x+2y+2z=9
x—y+4z=38

Options :

70819164299 does not have any solution

70819164300. has a unique solution

70819164301. has infinitely many solutions

70819164302. has a solution («, 3, v) satisfying « + %+ > =12

Question Number : 63 Question Id : 70819119716 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2x +3y 4
3x + 2y
x—y+4z=8 ererp Cuflws swearunphseaflar CamEudnsE
Options :
6ThS @ ST @eene.

70819164299.

70819164300, #40 @0 Sey 2-awi(h.

70819164307, TTETRIDD SFeysdt 2 (.

a+ B2+ y3=12 erarmeunm (o, B, v) eTerrm ST6y 2 awr(h.
70819164302, ' ol (o B, y) &iray 0



Question Number : 64 Question Id : 70819119717 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If I, =

@ cot"x dx, then :

Bl e 1

Options :

1 1 1
are in A.P.

20819164303, 2 T1la I3 t1s Is+lg

20819164304, 2+ 1ar 13+l I, +1gare in AP,

1 1 1
I, +I4 " Is +1g" I4 +1g

are in G.P.
70819164305.

20819164306, I,+1,, (I;+1:) I,+1 are in G.P.

Question Number : 64 Question Id : 70819119717 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I =

. cot"x dx erafléd

e e A

Options:
1 1 1
"Iy +1Ig" T4+ 1

08191 64303, HET sranien e ol (B Gsmiflér enwwylb.

L+1, L+1I, I, +1; etanuen ek sal (hd GHmfled enowib.
70819164304, 2 43 ¥ 46 PO g LIS i) o



1 1 1
I3 +157 Iy +1g

1 ererUan e CuE@EHS Cariifled sjenuyb.
70819164305, 2 © 4

L,+1,, (I.+I1.)2 I,+1, GTGITLIGH 6R(TF ']I_“IP&“H-&.- Qamfléd jenLowlb.
70819164306, - ° (o1 =

Question Number : 65 Question Id : 70819119718 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A
, then the sum of the series

A function f(x) is given by f(x) =

5* +5
l 20 ) l 20 ) l %, 1 ST l 20 )
is equal to :
Options :
29
z
70819164307.
49
w
70819164308.
39
z
708191643009.
19
y
70819164310. ~

Question Number : 65 Question Id : 70819119718 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



f(x) eremrm &myL, f(x) = GT6ITMl GUEN TUMISSLILILL e, Snl L 6l

5 +5
i l k' i '(39\' £ ~

)t 1 %) "/ | 20) " ) o v
Options :

29

o
70819164307.

o

2
70819164308.

39

2
70819164309.

19

7
70819164310. ~

Question Number : 66 Question Id : 70819119719 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

' 2a
i ajp 8

Let a.and P be therootsof x2— 6x— 2= 0. Ifa, =a™—p"forn = 1, then the value o 2
Jdg

is:

Options :

W

70819164311.

70819164312.

2

70819164313.



70819164314, |

Question Number : 66 Question Id : 70819119719 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a, P araruenr x2-6x-2=0 aramp swaTUT g6 (@EEE a =a~pt n = 1 aafle

ajy — Zag

o -aim LAILL
Options :
70819164311, 2
70819164312, °

2
70819164313.
70819164314, |

Question Number : 67 Question Id : 70819119720 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

at 1-at

The minimum value of f(x)=a" +a , wherea, x € R and a > 0, is equal to :

Options :

70819164315, 2 "1

1
70819164316.



70819164317.

2
70819164318.

Question Number : 67 Question Id : 70819119720 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

a,xe R whmbd a>0 eraybOumups, f(x)=a" +a'~? -ar B&dlm wdi

Options :

a+1l
70819164315.

sul
70819164316.

2/a
70819164317.

2
70819164318.

Question Number : 68 Question Id : 70819119721 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Q-:H”Ei‘ 2% 5":.2]t:ngi~ 2y

The integral _[ dx, x >0, is equal to :

D-i]ngix:t | 503](:&‘1 ?el]ngi,_t
(where c is a constant of integration)

Options :

—a

IDBPIEISI 7l +c
708191643109.



=

4log,, 2+5x—-7|+c

70819164320.
l]’_ i 5 - "y
2108/ x“+5x—7|+c
70819164321.
E . ———
g X +8Bx=F +¢
70819164322.

Question Number : 68 Question Id : 70819119721 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

DE]GE*‘?_T | 502](:&‘11:

dx, x>0, erartm Gsmenasud_edler &l
.lre-l]c}g?x | 503]:}5?1 ?02]:}5?1 4 it s =

(@®@E ¢ eremug Gsrensul(pn Curgy Cuplu@ob wrdledl)

Options :

log, |22 +5x -7 +¢
70819164319. -

. ) =
70819164320, H10Be/X"+3x 7t c

1 . i

Elog{,x-l&c 7+ ¢
70819164321,

log, VxZ +5x -7 +¢
70819164322.

Question Number : 69 Question Id : 70819119722 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If a, p = R are such that 1 2i (here = ~1) is a root of z2+az +$ =0, then (a ) is equal
to:



Options :

70819164323,
3
70819164324.
70819164325, *
7
70819164326.

Question Number : 69 Question Id : 70819119722 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

a, B € R eremuen 1-2i (2= -1) eramugl z2+oz + p=0 6Telln FOEMUM g6 G(F LD

arermeunm o ararer. LGUMpE (a—p) -ar WAL

Options :
70819164323,
3
70819164324.
70819164325,
7
70819164326.

Question Number : 70 Question Id : 70819119723 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the curve x2+4 2y3:2 intersects the line x +y=1 at two points P and Q, then the angle
subtended by the line segment PQ at the origin is :



Options :

= ey
2 o 1] 4 |
2 4 )
70819164327.
» i
2 4 )
70819164328.
-’..'T (1)
— + tan 1| — |
2 3 )
70819164329.
.'.'r _ 1 1)
—_— ta_n e
2 3)
70819164330.

Question Number : 70 Question Id : 70819119723 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

. o . 5 o] : . o P
x+y=1erenm Ganl x*+2y°=2 erenp euenareuennen P, Q crarm @ yetaflsatic

Qeuligermed PQ eramm Gan() pdluded smii@n Gameid

Options :
= a5
Z 4 tan lji
2 4/
70819164327.
.’.'T (1)
— — tan 1| —|
2 i\, —]:/'
70819164328.
” i
= +tan ! l|
i .
70819164329.
= o
2 L1 3‘_,.-'

70819164330.



Question Number : 71 Question Id : 70819119724 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The shortest distance between the line x — y=1 and the curve x?>=2y is :

Options :

2

2
70819164331.

i

2.2
70819164332.

0
70819164333.

B

2
70819164334,

Question Number : 71 Question Id : 70819119724 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

. T o = . ] . . o . o o -~ -
x-y=1arenmm CamloHEd x==2y elenlp cuenemeueni&@EHLD [@enL L' L iles bl gmyb

Options :
2
2
70819164331.
i
2.2

70819164332.



70819164333.

K| -

70819164334.

Question Number : 72 Question Id : 70819119725 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.
i - L
A hyperbola passes through the foci of the ellipse };E | {—6 =1 and its transverse and

conjugate axes coincide with major and minor axes of the ellipse, respectively. If the product
of their eccentricities is one, then the equation of the hyperbola is :

Options :
i d ]2
Lol A
70819164335, ° 16
X ]1
L Ay
70819164336, ~  °*
2 2
NSY 4
™
70819164337 © 2
3 g
x<—1y=9
70819164338, &

Question Number : 72 Question Id : 70819119725 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



I 3
.- N o B | 570 BT e S A T g gt
@ ST euenemL, o L~ 1 aramp Bemeul L s8len @ellwmiger aufilé Qacrdlpg.
Ib 90 St ¥

DI G6 gaamnuEs LoD Gnésés wenGu bl Lgdlear AplLés wHmb
GonéasEsLen dunmbsdns. sl ewwsbsrmadssesaiar AumsEs

Ggnens 1 oy@Eh eefld, odlugeauamanugdlar werum(y)

Options :

9 2

X 3‘_ _1
70819164335, © 16

9 2

5
70819164336.

2 2

5 a1
70819164337.

i yz -0

X
70819164338.

Question Number : 73 Question Id : 70819119726 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A plane passes through the points A(1, 2, 3), B(2, 3, 1) and C(2, 4, 2). If O is the origin and

Pis (2, —1, 1), then the projection of a’} on this plane is of length :

Options :
E
B
708191643309.
11
70819164340.

70819164341.



70819164342.

Question Number : 73 Question Id : 70819119726 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@ HaTd desdélng.

A(1, 2 3), B2, 3, 1) wpmid C2, 4, 2) eramp yareflaar euflung e

L

gl i R
‘O aranugl <48l womd Peremug) (2, —1, 1) arafler gargdlan gy OP -ai elipedlam fHartd

Options:
k]
f_—
\3
708191643309.
Ry
11
70819164340.
2
7
70819164341.
2
’;ill_
70819164342.

Question Number : 74 Question Id : 70819119727 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



li 1 n n n s
m | — e e, e AT F——— | isequal to :
n—eln  (n+1)* (n+2)° (2n —1)*

Options :

1
70819164343.

b3 | =

70819164344.

1
3
70819164345,

1
70819164346, *

Question Number : 74 Question Id : 70819119727 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

; 1 n n n
Iim | = 4 | |

nsoln  (n+1)2  (n+2)? (2n — 1)

Options :

1
70819164343.

1
2

70819164344,
£
3

70819164345.

1
4
70819164346.



Question Number : 75 Question Id : 70819119728 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[n a group of 400 people, 160 are smokers and non-vegetarian; 100 are smokers and vegetarian
and the remaining 140 are non-smokers and vegetarian. Their chances of getting a particular
chest disorder are 35%, 20% and 10% respectively. A person is chosen from the group at
random and is found to be suffering from the chest disorder. The probability that the selected
personis a smoker and non-vegelarian is :

Options :
L
70819164347, +°

8
70819164348, *>

B8

70819164349.

14
70819164350, 4°

Question Number : 75 Question Id : 70819119728 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

400 Guij GananL Gueie 160 Cufsar Lamsdigrur womb amsaulndfu;
100 Cuj uenslgliuy wombd esau@flur; B4 140 Cui umsledarsea] LHHD
asauLlfluT. SeuisEnsE dpers Crdsman aumaugnanar stdSumsdr panGw
35%, 20% whmib 10% @0, Foamily weandd @ bul ks @@-@ﬁlaﬁ]gbpj@
Qsfle; Qenyn Qumpg SieuméE dpens Yrésmean odrarg Asflu auimdng.
abs Gsfley elwiule puf ymsbglua] wonb ol Giurrs

@ Lusnarar blapsse
Options :

70819164347.



-
n.r||““I

&i| =

70819164348.

B8

70819164349.

14
70819164350, 4°

Question Number : 76 Question Id : 70819119729 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let Abeasetofall -l-u:ligit natural numbers whose exactl}-' one digit is 7. Then the pmhabilit}-‘
that a randomly chosen element of A leaves remainder 2 when divided by 5 is :

Options :

70819164351.

o

70819164352.

70819164353. ~

297

70819164354.

Question Number : 76 Question Id : 70819119729 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A arerugy eraverd Mess aanseflaib o @a&s WL (D 7 2 LI ST, FoemiLiL
: A WO
: :

wpaple g aear A -Wdlmbs Asfley Gelwuyn GQurs <AbBs erameert 5 -2pa

aUGEEL dunws b4 2 umasnsrar Flapssey

Options:

K.Fllr—f

70819164351.

o

70819164352.

70819164353, =7

122

29
70819164354,

|

Question Number : 77 Question Id : 70819119730 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3
If0<x y<mwand cosx + cosy — cos(x + y) = %, then sinx + cosy is equal to :
Options :
£
2
70819164355.
B
2
70819164356.
1-V3

70819164357. 2



o

2

70819164358.

Question Number : 77 Question Id : 70819119730 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0<x y<mwwHmbd cosx +cosy — cos (x +y) = 5 ereifled, sin x+cos i - WL
Options:

r

2
70819164355.

Fa

T
70819164356.

1-+3
70819164357, 2

Lo
70819164358, 2

Question Number : 78 Question Id : 70819119731 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let x denote the total number of one-one functions from a set A with 3 elements to a set B
with 5 elements and y denote the total number of one-one functions from the set A to the
set A xB. Then:

Options :

Zy' =01x
70819164359.



I3
=
[l
I3
e |
]
o

70819164360.

y=91x
70819164361.

y=273x
70819164362.

Question Number : 78 Question Id : 70819119731 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

apernn) 2 mUiLGseer ClamerL A erenn semsHlalmbg) 5 2 niliLssemend Csmeam B eren
samsSnE gouissiul L earmsbaranrer enfuseilar ceamafléas x erammb,
womb A -dlmbs AxB -4 gnouBssiulL @eamsbsrarprar #rjysefien

cTamtenllGens y GTENmiD 2 Gars. %Lf&hnr\.pgl

Options :

Zy =01x
70819164359.

]
=
Il
I3
]
L
o

70819164360.

y= Ol x
70819164361.

70819164362.

Question Number : 79 Question Id : 70819119732 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gl —1{43].
L‘nwsu*u‘[ﬁu*nwl 1[')_] F cos 1[7 q is equal to :
¥,

Options :



56

70819164363, -2

65
33
70819164364.

65

70819164365, -°

a;-
LA

70819164366.

Question Number : 79 Question Id : 70819119732 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ay
cnaec[?cnt_l{Sj I cns_ll = |} -6 LOSILILY
: \ D/
Options:
56

70819164363, -2

65
33
70819164364.

65

70819164365, °°

a;.
L

70819164366.



Question Number : 80 Question Id : 70819119733 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The contrapositive of the statement “If you will work, you will earn money” is :

Options :

70819164367, To earn money, you need to work

20819164368. You will earn money, if you will not work

70819164360. If you will not earn money, you will not work

If vou will earn monev, vou will work
70819164370. - s

Question Number : 80 Question Id : 70819119733 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“f Caame Haligna, o ané@ Lemtd Sl &@W0” eeann FahnéE CHILTDIET dhn
Options :

P - ~ T o Ay Iz: . - ?:;“ o~
20819164367, HewTDd #bundlas, b Geuene alw Gouem(hib.

5 i y : . T - P, ,: ! o P x "!.:'._
70819164368. guﬁlnﬂi{#} LIaHTLD H;]wf;l_nﬂj.:nﬂ:}m. E Lol &0 el '\.J‘IH'J_l..._ﬁ:J]'\:L‘GE-UL G-"]“-"'ji-'“-""-'-

o an&(& UewTld SlenLGasefldrenay erarilay B Geuency Glaww wrlmi.
70819164369. - =

N a ¥ N ¥ 5 N o h e N s
D oil&h(d U elTLD H‘]@E:I_Hm‘_'h H;]@E:l_n‘_'l':- mey, B LU eneD '\:J‘|n‘_'|'.J_|ﬁ:".J||.J_|.
70819164370. S Sl
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Question Number : 81 Question Id : 70819119734 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A function f is defined on [ -3, 3] as

f(x) = Jminl X2 le, I .

| [Ixl] , 2<|x|=3

where [x] denotes the greatest integer = x. The number of points, where fis not differentiable

in (-3, 3) is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819119734 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



f eremm &y [3, 3] eremn #TUSESSED
X =
" L [l=l] , 25)|z|23

(@i [2] = x -5 el WlensiuL g Wlens (Lp(Lp cTewT) 6Temmeumm cuen NG LI L6

(-3,3) - faamslile wywung yatellsallan eramanfldans
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 82 Question Id : 70819119735 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[f the curve, y=y(x) represented by the solution of the differential equation
(2xy? ~ y)dx +xdy=0, passes through the intersection of the lines, 2x ~3y=1 and
3x +2y=38, then |y(1)|isequal to __

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819119735 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(202 - y)dx +xdy =0 ereny cuea&EEW FweTUT igam Siauns SenLs@h cuemarelay

y=y(x) aremug 2r-3y=1 womb 3x+2y=8 ey Gan(aar Geu (b yarafleulflé

Ggarmmed |y(1)| -er oL



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819119736 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The total number of two digit numbers ‘n’, such that 3" + 7" is a multiple of 10,is .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819119736 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

.

+7 ararug) 10 -en GluméEs Csnmeswns @mUuusnarar @rleal @a&s erem

A
‘n’ -seflen 'f51m||§,g; crememtlaans
Response Type : Numeric

Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 84 Question Id : 70819119737 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

dy
ax ' 1)
T il i
x=0 ax(e™ - 1)

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

exists and is equal to b, then the valueof a—~2bis

Question Number : 84 Question Id : 70819119737 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

4 1'-|

1L e ! - ey e ma (T ;
el eTena) ([@)(mbg

lim - -
=0 ax(e™ - 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

2igen UL b eraflé a-2b -a1 WL

Question Number : 85 Question Id : 70819119738 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the curves x=y"1 and xy=k cut at right angles, then (4K)° is equal to

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819119738 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

x=y wdpb yy=k aarn w@@amIsE daamn @arn CFkEGESTE Caliyd
6

Clgmamrne, (4)° -er wHOY .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819119739 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

-

The value of _[ 3x° —3x — 6|dx is T Tp— |

_—

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 86 Question Id : 70819119739 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

.
_[ 3x° —3x —6|dx erem Gsmenswiligen wHOY .
—

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819119740 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the remainder when x is divided by 4 is 3, then the remainder when (2020 + x)'Z is

divided by 8is ____ .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819119740 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
x -3 4 -8 agssnad B4 3 amb eald, (20204072 -5 8 -gid w@ssTa

denLé@h Wdl

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819119741 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Aline T’ passing throug_h origin is perpendicu lar to the lines

-

it =@40i +(-1420] + &+ 20k

A

—5

L:r =(3+4 ?53.1} F(3 4 ?5]';'\' (24 S];ﬁ:

[f the co-ordinates of the point in the first octant on ‘I," at a distance of J17 from the point
of intersection of ‘I' and ‘I;" are (a, b, ¢), then 18(a+b+c) isequalto ___ .

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 88 Question Id : 70819119741 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819119742 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A line is a common tangent to the circle (x ~3)?+1>=9 and the parabola y?=4x. If the two
points of contact (a, b) and (c, d) are distinct and lie in the first quadrant, then 2(a +¢) is
equal to ek

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 89 Question Id : 70819119742 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



(x =3 +1?=9 eremm aul_L &8 MHEH0 y>=4x eremn LreuamarsSn@En g Canlh Cumss
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819119743 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let a =i 4 n;r 3k and 54 uI - k. If the area of the parallelogram whose

- =3 i
adjacent sides are represented by the vectors a and b is 83 square units, then 3 - b is
equal to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :
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